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Test Directions

1. Complete the information requested on the answer sheet.

PRINT YOUR NAME on the “Name” line.

PRINT the name of the event, ACCOUNTING 1 on the “Subject” line.
PRINT the name of your CHAPTER on the “DATE” line.

2. All answers will be recorded on the answer sheet.

Please do not write on the test booklet.

Scrap paper will be provided.

3. Read each question completely before answering.  With a NO. 2 pencil, blacken in your choices completely on the answer sheet.  Do not make any other marks on the answer sheet, or the scoring machine will reject it.

4. You will be given 60 minutes for the test.  You will be given a starting signal and a signal after 50 minutes have elapsed.

5. Tie will be broken using the last 10 questions of the test.

1. To record a cash sale, the proper entry is:
a. Debit Cash and Credit Sales

b. Debit Sales and Credit Cash

c. Debit Revenue and Credit Cash
d. Debit Accounts Receivable and Credit Sales

2. Owner’s Equity (Capital) increases as a result of:
a. Expenses

b. Withdrawals

c. Revenues

d. All of the above

3. A relatively new type of business structure that combines the benefits of a partnership with those of a corporation is called a(n):
a. Hybrid Corporation

b. Limited Liability Corporation

c. Special Corporation

d. None of the above

4. The financial statement that reports the revenues and expenses for a period of time, such as a year or a month is the:
a. Balance Sheet
b. Income Statement

c. Statement of Owner’s Equity

d. Statement of Cash Flows

5. Unearned revenue is what type of account:
a. Asset

b. Liability

c. Owner’s Equity

d. Expense

6. If the total of expenses exceeds the total revenue, the result is a(n):

a. Net Income

b. Net Profit

c. Net Loss

d. Break Even

7. Which of the following is accurate:

a. Assets = Liabilities + Owner’s Equity

b. Assets - Liabilities = Owner’s Equity

c. Owner’s Equity = Assets – Liabilities

d. All of the above are accurate  

8. If Kevin is paid an hourly rate of $18.90 and he earns one and one half times his regular rate for overtime, his overtime rate would be:
a. $22.45

b. $28.35

c. $18.90

d. $9.45

9. The Federal Insurance Contribution Act resulted in what tax:
a. SUTA

b. FUTA

c. Social Security

d. None of the above

10. The financial statement that reports the assets, liabilities, and owner’s equity as of a specific date is called the:
a. Balance Sheet

b. Income Statement

c. Statement of Cash Flows

d. Statement of Owner’s Equity

11. The entry to record the purchase of a three-year insurance policy for cash is:

a. Debit Cash and Credit Insurance Expense

b. Debit Insurance Expense and Credit Accounts Payable

c. Debit Prepaid Insurance and Credit Accounts Payable

d. Debit Prepaid Insurance and Credit Cash

12. Lauren’s Bookstore has net sales of $541,290 and a gross profit of $162,300.  What would be their cost of goods sold:
a. $703,590

b. $378,990

c. $541,290

d. $162,300

13. Under the accrual basis of accounting, revenues are reported in the accounting period when:
a. Cash is received

b. Cash is spent

c. Services or goods have been sold

d. None of the above

14. Which of the following would not be included on the company’s balance sheet:
a. Cash

b. Revenue

c. Automobiles and Trucks

d. Furniture and Fixtures

Answer questions 15 - 20 either (a) Debit or (b) Credit

15. The left side of a T account:
a. Debit

b. Credit

16. The normal balance of Rent Expense:

a. Debit

b. Credit

17. The normal balance of Accounts Payable:

a. Debit

b. Credit

18. The increase side of Accounts Receivable:

a. Debit

b. Credit

19. The decrease side of Cash:

a. Debit

b. Credit

20. The normal balance of any liability:

a. Debit

b. Credit

For questions 21 – 25, classify each of the accounts using the following guide:

(a)  Asset 
(b) Liability

(c) Revenue

(d) Expense

21. Cash

a. Asset

b. Liability

c. Revenue

d. Expense

22. Sales

a. Asset

b. Liability

c. Revenue

d. Expense

23. Automobiles and Trucks

a. Asset

b. Liability

c. Revenue

d. Expense

24. Automobile Expense

a. Asset

b. Liability

c. Revenue

d. Expense

25. Accounts Payable

a. Asset

b. Liability

c. Revenue

d. Expense

26. Which of the following transactions would result in the recording of an expense:
a. Payment of a year’s worth of insurance

b. Purchase of a truck

c. Repairs paid on an automobile

d. A withdrawal by the owner for personal use

27. Which of the following is correct:
a. Assets = $12,500, Liabilities = $8,000, Capital = $20,500

b. Assets = $34,000, Liabilities = $12,400, Capital = $22,000

c. Assets = $25,700, Liabilities = $5,600, Capital = $20,100

d. None of the above are correct

28. The entry to record the expiration of insurance for the year in the amount of $2,500 would be:
a. Debit Insurance Expense, Credit Cash

b. Debit Prepaid Insurance, Credit Insurance Expense

c. Debit Insurance Expense, Credit Accounts Payable

d. Debit Insurance Expense, Credit Prepaid Insurance

29. The entry to record depreciation of equipment for the year is:
a. Debit Accumulated Depreciation, Credit Depreciation Expense

b. Debit Depreciation Expense, Credit Cash

c. Debit Depreciation Expense, Credit Accumulated Depreciation

d. Debit Accumulated Depreciation, Credit Cash

30. The account, Merchandise Inventory, is what type of account:
a. Asset

b. Liability

c. Revenue

d. Expense

31. Martin and Jones Partnership purchases a building for $50,500.  They use cash from the business in the amount of $10,000 and take out a thirty-year, 10%  mortgage for the balance.  Which accounts would be affected:

a. Building and Cash

b. Building, Cash, and Mortgage Expense

c. Building and Mortgage Payable, Interest Expense
d. Building, Cash, and Mortgage Payable

32. Each business must maintain a set of accounting records separate from other businesses and from the personal affairs of the owner(s).  This is an example of which concept:
a. Accounting Entity

b. Matching Principle

c. Going Concern

d. None of the Above

33. This financial statement represents a summary of cash receipts (sources of cash) and cash payments (uses of cash) for an accounting period:

a. Balance Sheet

b. Income Statement

c. Cash-Flow Statement – Statement of Cash Flow

d. Statement of Owner’s Equity

34. The closing entry prepared to indicate a net income for the accounting period would result in:
a. A debit to Income Summary and a Credit to Capital

b. A debit to Capital and a Credit to Income Summary

c. A debit to Capital and a Credit to Drawing

d. A Credit to Revenue and a Debit to Income Summary

35. A characteristic of a sole proprietorship is:
a. It is simple to organize

b. The owner claims all of the profits

c. The owner assumes unlimited liability

d. All of the above

36. When a checking account is opened, the person(s) who will be writing checks must sign a:

a. Check Register

b. Signature Card

c. Deposit Slip
d. Check Stub
For questions 37 – 39 use the following Trial Balance

	Account Title
	Trial Balance

	 
	Debit
	Credit

	Cash
	10500.00
	 

	Petty Cash
	500.00
	 

	Prepaid Insurance
	3000.00
	 

	Supplies
	1250.00
	 

	Building
	10800.00
	 

	Accounts Payable
	 
	9800.00

	Joe Roberts, Capital
	 
	4400.00

	Joe Roberts, Drawing
	1000.00
	 

	Sales
	 
	15600.00

	Automobile Expense
	750.00
	 

	Insurance Expense
	 
	 

	Rent Expense
	2000.00
	 

	Supplies Expense
	 
	 

	 
	29800.00
	29800.00


37. Using the Trial Balance above, record the adjusting entry for insurance.  The balance in the prepaid account represents three months worth of insurance.  Adjust to indicate that one month of insurance has expired.

a. Debit Insurance Expense:  $2000, Credit Prepaid Insurance: $2000

b. Debit Prepaid Insurance:  $1000, Credit Insurance Expense:  $1000

c. Debit Insurance Expense:  $1000, Credit Income Summary:  $1000

d. Debit Insurance Expense:  $1000, Credit Prepaid Insurance:  $1000

38. Using the Trial Balance above, record the adjusting entry for supplies.  It is determined that you have an ending inventory of supplies in the amount of $750.

a. Debit Supplies:  $500, Credit Supplies Expense:  $500
b. Debit Supplies Expense:  $500, Credit Supplies:  $500

c. Debit Supplies:  $750, Credit Supplies Expense:  $750

d. Debit Supplies Expense:  $750, Credit Supplies:  $750

39. Using the Trial Balance above, indicate the amount owed by this company to its creditors:

a. $1000

b. $15600

c. $9800

d. $4400

40. When completing a check stub, to arrive at the ending balance, take the beginning balance and:
a. Add the deposit and the check

b. Subtract the check and add the deposit

c. Subtract the check and the deposit

d. Add the check and subtract the deposit

41. A written order to pay a specific sum from a depositor’s account to a payee is a(n):
a. Deposit

b. Check

c. Check Stub

d. Invoice

42. The bank on which the check is drawn is known as the:
a. Drawee

b. Drawer

c. Payee

d. Payer

43. The entry to record the establishment of a Petty Cash fund in the amount of $500 is:
a. Debit Cash:  $500, Credit Petty Cash:  $500

b. Debit Petty Cash:  $500, Credit Cash:  $500

c. Debit Office Expense:  $500, Credit Petty Cash:  $500

d. Debit Petty Cash:  $500, Credit Accounts Payable:  $500

44. In a merchandising business, the difference between revenue and costs of goods sold is known as:
a. Revenue

b. Net Income

c. Net Loss

d. Gross Profit

45. A columnar form on which the accountant gathers data at the end of the accounting period is called a(n):
a. Worksheet

b. Trial Balance

c. Financial Statement

d. Ledger

46. A plan for a future period, stated in money terms is called a(n):
a. Financial Statement

b. Budget

c. Trial Balance

d. Income Statement

47. Which of the following statements is true:

	
	
	Effect Upon

	
	
	Assets
	Liabilities

	A.
	We paid a creditor with cash
	Decrease Cash
	Increase Accounts Payable

	B.
	A debtor paid part of his debt to us
	Increase Cash
	Increase Accounts Receivable 

	C.
	Our company takes out a 30-day loan
	Increase Cash
	Increase Loans Payable

	D.
	We buy goods on credit
	Decrease Cash
	Increase Capital


48. The entry to record the purchase of supplies with cash is:

a. Debit Supplies, Credit Cash

b. Debit Supplies, Credit Accounts Payable

c. Debit Supplies Expense, Credit Supplies

d. Debit Cash, Credit Supplies

49. Which principle/guideline justifies a company violating an accounting principle because the amounts are immaterial:

a. Conservatism

b. Full Disclosure

c. Materiality

d. Going Concern

50. Which principle/guideline is associated with the assumption that the company will continue on long enough to carry out its objectives and commitments:

a. Economic Entity

b. Going Concern

c. Time Period

d. Materiality
51. On June 1, $800 of goods are sold with credit terms of 1/10, n/30.  How much should the seller expect to receive if  the buyer pays on June 8:

a. $720

b. $784

c. $792
d. $800

52. Which of the following items will require a journal entry to the company’s books: 

a. Bank Service Charge

b. Deposit in Transit

c. Bank Error

d. Outstanding Check

53. Which of the following will not require a journal entry to the company’s books:

a. Check printing charge

b. Outstanding checks

c. Fee for NSF check

d. Bank Service Charge

54. A company recorded Check No. 275 in its accounting records as $98.  However, the check was actually written for $89 and cleared the bank as $89.  What adjustment is needed to the Cash balance per the company’s books:

a. Decrease cash by $9

b. Increase cash by $9

c. Increase cash by $89

d. Increase cash by $98

55. Every transaction will affect how many accounts:

a. Only one

b. Only two

c. Two or more

d. None of the above  
Use the following statement to answer questions 56 to 59.  A company performed services on account in August. The services were for $2,000 and the company gave the customer credit terms that state the amount is to be paid to the company in September. 

56.  Assuming that the company records entries using the accrual basis of accounting, what will be the account debited for $2000 in August:

a.  Cash

b.  Accounts Receivable

c.  Service Revenue

d.  None of the above

57.  Which account should the company credit for $2000 in August:

a.  Cash

b.  Accounts Receivable

c.  Service Revenue

d.  None of the above

58.  In September when the company received the $2000 from the customer, which account should the company debit:

a.  Cash

b.  Accounts Receivable

c.  Service Revenue

d.  None of the above

59.  The income summary account is called:

a.  a permanent account

b.  a clearing account

c.  a nominal account

d.  a subsidiary account
60.  Which of the following account groups are all considered nominal accounts:

a.  Cash, Fees Earned, Unearned Revenues

b.  Drawing, Fees Earned, Rent Expense

c.  Capital, Drawing, Income Summary

d.  Capital, Prepaid Expenses, Unearned Revenues

61.  All of the closing entries will adjust to update this account:

a.  Income Summary

b.  Drawing

c.  Capital

d.  Cash

62.  The entry to close the appropriate insurance account at the end of the accounting period is:

a.  Debit:  Income Summary, Credit:  Prepaid Insurance

b.  Debit:  Income Summary, Credit:  Insurance Expense

c.  Debit:  Income Summary, Credit:  Accounts Payable

d.  Debit:  Income Summary, Credit:  Cash

63.  The fiscal year selected by companies:

a.  is the same as the calendar year

b.  begins with the first day of the month and ends on the last day of the twelfth month

c.  must always begin on January 1

d.  will change each year

64.  A net loss appears on the worksheet in the:

a.  debit column of the Balance Sheet columns

b.  credit column of the Balance Sheet columns

c. . debit column of the Income Statement columns

d.  credit column of the Adjustments column

65.  According to their accounting records, on January 1 the capital account had a balance of $550,600.  During the year, there was an additional investment by the owner of $50,000 and a withdrawal of $40,000.  For the year ended December 31, the business reported a net income of $68,150.  What is the ending balance of the capital account:

a.  $600,600

b.  $500,600

c.  $628,750

d.  $668,750

66.  What type of account is Unearned Service Fees:

a.  Current Asset

b.  Current Liability

c.  Long-Term Liability

d.  Plant, Property Asset
67.  What type of account is Prepaid Rent:

a.  Current Asset

b.  Current Liability

c.  Long-Term Liability

d.  Plan Asset

68.  Which of the following accounts is an asset:

a.  Cash

b.  Accounts Receivable

c.  Merchandise Inventory

d.  All of the above
69.  Of the following account types, which would be increased by a debit:

a.  Liabilities and Expenses

b.  Assets and Equity

c.  Assets and Expenses

d.  Equity and Revenues

70.  The following comments are related to the recording process.  Which of these statements is correct:

a.  the general ledger is a chronological record of transactions

b.  the general ledger is posted from transactions recorded in the general journal

c.  the trial balance provides the primary source document for recording transactions 

d.  Transposition is the transfer of information from the general journal to the general ledger
71.  The following comments each relate to the recording of journal entries.  Which statement is true:

a.  for any given journal entry debits must exceed credits

b.  it is customary to record credits on the left and debits on the right

c.  the chart of accounts reveals the amount to debit and credit to the affected accounts

d.  journalization is the process of converting transactions into debit and credit format

72.  Failure to record the receipt of a utility bill for services already received will result in:

a.   an overstatement of assets

b.  an overstatement of liabilities

c.  an overstatement of equity

d.  an understatement of assets
73.  The proper journal entry to record Marco Company’s billing of clients for $500 of services rendered is:

a.  Debit Cash, Credit Accounts Receivable

b.  Debit Accounts Receivable, Credit Capital

c.  Debit Accounts Receivable, Credit Service Revenue

d.  Debit Service Revenue, Credit Accounts Receivable

74.  Linda Lawrence invested land valued at $5000 in her business.  This transaction would be recorded as follows:

a.  Debit Land, Credit Capital

b.  Debit Capital, Credit Cash

c.  Debit Cash, Credit Capital

d.  Debit Land, Credit Cash

75.  The trial balance:

a.  is a formal financial statement

b.  is used to prove that there are no errors in the journal or ledger

c.  provides a listing of every account in the chart of accounts

d.  provides a listing of the balance of each account in active use

76.  Which of the following errors will be disclosed in the preparation of a trial balance:

a.   recording transactions in the wrong account

b.  duplication of a transaction in the accounting records

c.  posting only the debit portion of a particular journal entry

d.  recording the wrong amount for a transaction to both the account debited and the                    account credited

77.  The basic sequence in the accounting process can best be described as:

a.  transaction, journal entry, source document, ledger account, trial balance

b.  source document, transaction, ledger account, journal entry, trial balance

c.  transaction, source document, journal entry, ledger account, trial balance

d.  transaction, source document, journal entry, trial balance, ledger account

78.  The phase of accounting that deals with collecting and controlling the costs of producing a given product or service is called:

a.  internal auditing

b.  bookkeeping

c.  general accounting

d.  cost accounting

79.  If revenues for the accounting period total $5000, and the expenses total $1000, then the net income (loss) must total:

a.  $6000

b.  $4000

c.  ($6000)

d.  ($4000)

80.  The recording of financial transactions and events manually or electronically is called:

a.  bookkeeping

b.  information technology

c.  reporting

d.  auditing

81.  Which of the following statements is false regarding a sole proprietorship:

a.  A proprietorship has only one owner

b.  A proprietorship is legally a separate entity

c.  The owner is subject to unlimited liability

d.  Income of the proprietorship is taxed on the owner’s personal income tax return

82.  Nike sold a pair of shoes to a retailer for $100.  The retailer sold the shoes to you for $125.  It cost Nike $80 to make the shoes.  It cost the retailer $105 to buy and sell the shoes.  What answer below is not correct;

a.  Nike will make $20 on the transaction

b.  The retailer will make $20 on the transaction

c.  They both will have the same revenue on the sale

d.  They both will have the same net profit on the sale

83.  An external user of financial information will include all of the following except:
             a.  shareholders
             b.  customers

             c.  managers
             d.  suppliers

84.  A partnership:
              a.  is a legally separate business entity
              b.  enables owners to limit their liability
              c.  requires one or more owners
              d.  is taxed on the partners’ individual income tax returns[image: image1.wmf]
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85.  ABC Company has just completed repairs for its entire fleet of automobiles (18 vehicles) in the amount of $2,650.  The company was invoiced at 2/10, n/30 on June 3.  What would be the proper entry on June 3:

a.  Debit Automobiles, Credit Cash

b.  Debit Automobile Expense, Credit Cash

c.  Debit Automobiles, Credit Accounts Payable

d.  Debit Automobile Expense, Credit Accounts Payable

86. The difference between the balance of a fixed asset account and the related accumulated depreciation account is called:
      a.  liability
      b.  contra asset
      c.  book value
      d.  market value
87. An account is said to have a credit balance if:
a. The normal balance of the account is a credit

b. The total debits exceed the total credits

c. The total debits equals the total credits

d. The total credits exceed the total debits 

88. Which special journal would you use to record invoicing an accounts receivable customer for $1,250 sales;
a. Sales Journal

b. Cash Receipts Journal

c. Cash Disbursements Journal

d. General Ledger

89.  Which of the following accounts is not increased by a debit:
             a.  Revenue
             b.  Expense
             c.  Drawing
             d.  Asset
90.  The properties used in the operation or investment activities of the business are called:
            a.  Assets
            b.  Liabilities
            c.  Capital
            d.  Expenses
91.  Which of the following is considered a sub-category of owner’s equity:

a.  Current Assets

b.  Liabilities
 
c.  Drawing
 
d.  Plant Assets

92.  If a business paid $8000 to its creditors on account, what would be the effect of the transaction on the accounting equation:


a.  an increase in an asset, an increase in a liability


b.  a decrease in an asset, a decrease in a liability


c.  an increase in an asset, a decrease in owner’s equity


d.  a decrease in an asset, a decrease in owner’s equity  
93.  Which journal entries are used at the end of the accounting period to clear the balances from the temporary accounts, so that these accounts may be used in the accumulation of data for preparing the next period’s statement:


a.  correcting entries


b.  closing entries


c.  adjusting entries


d.  opening entries

94.  Entries to record expired insurance and the amount of supplies used are examples of:


a.  correcting entries


b.  reversing entries


c.  adjusting entries


d.  closing entries  

95.  The main purpose for maintaining a petty cash fund is to:

a.  make change for customers


b.  cash employee paychecks


c.  have cash available to start each business day


d.  issue money for small business purchases

96.  To close the revenue account, the revenue account balance for the fiscal period is transferred to:

a.  Income Summary


b.  Capital


c.  Cash


d.  Drawing

97.  Entries in a purchases journal affect account balances in the:


a.  Accounts payable ledger and the general ledger


b.  Accounts payable ledger and the accounts receivable ledger


c.  Accounts receivable ledger and the general ledger


d.  Accounts payable ledger and the sales journal

98.  After posting the closing entry the sales account has a:


a.  debit balance


b.  credit balance


c.  zero balance


d.  beginning balance

99.  The accounts receivable subsidiary ledger is a listing of:


a.  all creditors


b.  all vendors


c.  all suppliers


d.  all customers

100.  A source document for recording sales is:


a.  a register tape


b.  a check stub


c.  a memorandum


d.  a purchase requisition

.

1. A
2. C

3. B

4. B

5. B

6. C

7. D

8. B

9. C

10. A

11. D

12. B

13. C

14. B

15. A

16. A

17. B

18. A

19. B

20. B

21. A

22. C

23. A

24. D

25. B

26. C

27. C

28. D

29. C

30. A

31. D

32. A

33. C

34. A

35. D

36. B

37. D

38. B

39. C

40. B

41. B

42. A

43. B

44. D

45. A

46. B

47. C

48. A

49. C

50. B

51. A

52. A

53. B

54. B

55. C

56. B

57. C

58. A

59. C

60. B

61. C

62. B

63. B

64. A

65. C

66. B

67. A

68. D

69. C

70. B

71. D

72. C

73. C

74. A

75. D

76. C

77. C

78. D

79. B

80. A

81. B

82. C

83. C

84. D

85. D

86. C

87. D

88. A

89. A

90. A

91. C

92. B

93. B

94. C

95. D

96. A

97. A

98. C

99. D

100.A
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